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Example

1. Examine whether the following sequences are

in A.P. If it is so, determine its first term and

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_HiBZMIGuO2Fs


common difference. 

Watch Video Solution

Tn = 4n + 3

2. Examine whether the following sequences are

in A.P. If it is so, determine its first term and

common difference. 

Watch Video Solution

Tn = n2 + 3

https://dl.doubtnut.com/l/_HiBZMIGuO2Fs
https://dl.doubtnut.com/l/_Ibhk26EX1it3


3. The flfth term of an A.P. Is  and nineth

term is .Determine the AP. and its

sixteenth term.

Watch Video Solution

9x + 8

2
17x + 16

2

4. The sum of three numbers in A.P. is 24 and the

sum of their squares is 224. Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_LckhikrSthPd
https://dl.doubtnut.com/l/_k7e0K1cOl4Pr


5. If pth, qth and rth term of an A.P. be a,b,c then

prove that. 

Watch Video Solution

a(q − r) + b(r − p) + c(p − q) = 0

6. If a,b,c are in A.P.,prove that - 

Watch Video Solution

a3 − 8b3 + c3 + 6abc = 0

https://dl.doubtnut.com/l/_SGgFqTjSIgwy
https://dl.doubtnut.com/l/_DcT5uCjk5CkB


7. If a, b, c are in A.P., prove that

 are also in A.P.

Watch Video Solution

, ,
1

√b + √c

1

√c + √a

1

√a + √b

8. If  are in A.P. show

that  are also in A.P.

Watch Video Solution

(b − c)
2
, (c − a)

2
, (a − b)

2

, ,
1

b − c

1

c − a

1

a − b

9. Determine five arithmetic mean between 3 and

33.

https://dl.doubtnut.com/l/_4ZehNOGnwUMz
https://dl.doubtnut.com/l/_LjNzaUvyR39t
https://dl.doubtnut.com/l/_eV3vhhVRk9iP


Watch Video Solution

10. There are n AM.'s between 7 and 85 such that 

(n-3)th mean : nth mean = 11 : 24.Find n.

Watch Video Solution

11. Find the sum of -7-4-1 + 2…. to 20th term.

Watch Video Solution

https://dl.doubtnut.com/l/_eV3vhhVRk9iP
https://dl.doubtnut.com/l/_IbeBa1j0TjqU
https://dl.doubtnut.com/l/_E87Mtsmk2ORt


12. Prove that the sum of n A.M.'s between any

two numbers is equal to n times the A.M. of the

two numbers.

Watch Video Solution

13. The first term and the last term of an A.P. are 2

and 29, respectively. If the sum of the series is

155, find the number of terms and common

difference.

Watch Video Solution

https://dl.doubtnut.com/l/_MdbzRvkHXqXb
https://dl.doubtnut.com/l/_kCvghRAFFwAW
https://dl.doubtnut.com/l/_v7J4wgJ9kWM7


14. If the sums of an A.P. upto pth, qth and rth

terms are a, b and c respectively, prove that- 

.

Watch Video Solution

(q − r) + (r − p) + (p − q) = 0
a

p

b

q

c

r

15. Find the sum of first n terms of the series 

1.3 + 2.5 + 3.7 + 4.9 +…..

Watch Video Solution

https://dl.doubtnut.com/l/_v7J4wgJ9kWM7
https://dl.doubtnut.com/l/_KkdzkF9wSZjZ


16. The nth term of a sequence is given by .

Prove that it is
 a geometric sequence. Also find

the first term and common ratio of it.

Watch Video Solution

2n+ 1

3n

17. If fifth term of a G.P. is 16 and tenth term is ,

find the
G.P. Also find its fifteenth term.

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_Apr6ZGktW0MP
https://dl.doubtnut.com/l/_0YF0O3li3bVk


18. The sum of three consecutive number in G.P. is

26 and their product is 216. Find the numbers.

Watch Video Solution

19. If 2, a, b, 8 are in A.P. and a, b, c are in G.P., find

a, b, c.

Watch Video Solution

20. a, b, c are in G.P. If x, y are A.M.'s between a, b

and b, c respectively, prove that- 

https://dl.doubtnut.com/l/_MkuOqRI97bpn
https://dl.doubtnut.com/l/_8YSyeUUocTVD
https://dl.doubtnut.com/l/_V7JSpP9ESQ8p


 and .

Watch Video Solution

+ = 2
a

x

c

y
+ =

1

x

1

y

2

b

21. If a,b,c,d are in G.P. then

 are also in G.P.

Watch Video Solution

, ,
1

a3 + b3

1

b3 + c3

1

c3 + d3

22. Determine 3 G.M.,s between 2 and 162.

Watch Video Solution

https://dl.doubtnut.com/l/_V7JSpP9ESQ8p
https://dl.doubtnut.com/l/_eibI1LIma5EQ
https://dl.doubtnut.com/l/_egJKulkgacFd
https://dl.doubtnut.com/l/_H3vjHUEcA2ez


23. If ’a' be the AM of b and c and p and q be the

two G.M.,s between them, show that 

.

Watch Video Solution

p3 + q3 = 2abc

24. Find the sum to n term of the G.P

…....

Watch Video Solution

− + − +
1

2

1

4

1

8

1

16

https://dl.doubtnut.com/l/_H3vjHUEcA2ez
https://dl.doubtnut.com/l/_9WSms57Lb3np


Exercise

25. In a G.P the sum of first n terms is S,the

product is P and the sum of the reciprocals of the

terms is R.Show that .

Watch Video Solution

P 2 = ( )
n

S

R

26. Find the sum of first n terms of the following

Watch Video Solution

4 + 44 + 444 + ….

https://dl.doubtnut.com/l/_q0MORIXwuecL
https://dl.doubtnut.com/l/_JvUyIBOUckWO


1. Following are the nth terms of certain

sequences. Determine first four terms in each

case. 

Watch Video Solution

Tn = 3n + 1

2. Following are the nth terms of certain

sequences. Determine first four terms in each

case. 

Watch Video Solution

Tn = n2 + n + 2

https://dl.doubtnut.com/l/_cEaY7i52Hbqs
https://dl.doubtnut.com/l/_TDcGF580V9gn


3. Following are the nth terms of certain

sequences. Determine first four terms in each

case. 

Watch Video Solution

Tn =
n2 + 2n

2

4. Following are the nth terms of certain

sequences. Determine first four terms in each

case. 

1+Tn = ( − 1)
n

https://dl.doubtnut.com/l/_TDcGF580V9gn
https://dl.doubtnut.com/l/_tmm4mgrRyHZJ
https://dl.doubtnut.com/l/_gGNydQOYvT3a


Watch Video Solution

5. Following are the nth terms of certain

sequences. Determine first four terms in each

case. 

Watch Video Solution

Tn =
(1)n

2

6. Following are the nth terms of certain

sequences. Determine first four terms in each

https://dl.doubtnut.com/l/_gGNydQOYvT3a
https://dl.doubtnut.com/l/_YONFokGK0g2W
https://dl.doubtnut.com/l/_QaAiixrgMoQS


case. 

Watch Video Solution

Tn = (2n)2

7. Following are the nth terms of certain

sequences. Determine first four terms in each

case. 

Watch Video Solution

Tn = ( )
n− 1

2

3

https://dl.doubtnut.com/l/_QaAiixrgMoQS
https://dl.doubtnut.com/l/_pP5m7xvMm085


8. Find the nth terms of the following sequences. 

,....

Watch Video Solution

1, , ,
1

2

1

3

1

4

9. Find the nth terms of the following sequences. 

,…..

Watch Video Solution

, , ,
1

2

2

3

3

4
4
5

10. Find the nth terms of the following

sequences. 

https://dl.doubtnut.com/l/_sUTvjbVhrYet
https://dl.doubtnut.com/l/_EJPtuGXFFhZW
https://dl.doubtnut.com/l/_kITNDc1VOaXT


2,4,6,8,….

Watch Video Solution

11. Find the nth terms of the following sequences.

3,7,11,15,…..

Watch Video Solution

12. Find the nth terms of the following

sequences. 

1,3,9,27,…..

W t h Vid S l ti

https://dl.doubtnut.com/l/_kITNDc1VOaXT
https://dl.doubtnut.com/l/_DSPAhbBZmSBI
https://dl.doubtnut.com/l/_cMZR7LIKJvcn


Watch Video Solution

13. Find the nth terms of the following

sequences. 

,……

Watch Video Solution

, , ,
1

2

1

4

1

8

1

16

14. the following are the nth term of certain

sequence. Determine whether they are A.P. or not

. If it is so find the first term and CD. 

Watch Video Solution

Tn = n2 − 1

https://dl.doubtnut.com/l/_cMZR7LIKJvcn
https://dl.doubtnut.com/l/_5bbkD1YbvXrP
https://dl.doubtnut.com/l/_dR8nEgv5xIeB


15. the following are the nth term of certain

sequence. Determine whether they are A.P. or not

. If it is so find the first term and CD. 

Watch Video Solution

Tn = 2n + 3

16. the following are the nth term of certain

sequence. Determine whether they are A.P. or not

. If it is so find the first term and CD. 

Watch Video Solution

Tn = 3n + 5

https://dl.doubtnut.com/l/_e86w1lYBEF3I
https://dl.doubtnut.com/l/_Czm7X7sNyyoO


17. the following are the nth term of certain

sequence. Determine whether they are A.P. or not

. If it is so find the first term and CD.

Watch Video Solution

Tn = n2 + n + 2

18. the following are the nth term of certain

sequence. Determine whether they are A.P. or not

. If it is so find the first term and CD. 

Watch Video Solution

Tn = 3n − 1

https://dl.doubtnut.com/l/_K4zHZa4oTLzw
https://dl.doubtnut.com/l/_bTmvWVAVotzo
https://dl.doubtnut.com/l/_rpgxOfSEBAuE


19. The following are the nth terms of certain

sequences. Determine whether they are A.P. or

not. If it is so, find the first terms and common

differences. 

Watch Video Solution

Tn = 4n − 10

20. the following are the nth term of certain

sequence. Determine whether they are A.P. or not

. If it is so find the first term and CD.

Tn =
n2 + 1

2

https://dl.doubtnut.com/l/_rpgxOfSEBAuE
https://dl.doubtnut.com/l/_HfcGHuFxiTsL


Watch Video Solution

21. Determine the terms of the following A.P.’s as

specified. 

13th term of 7, 10, 13, ....

Watch Video Solution

22. Determine the terms of the following A.P.’s as

specified. 

100th term of 1, 3, 5, 7, ....

Watch Video Solution

https://dl.doubtnut.com/l/_HfcGHuFxiTsL
https://dl.doubtnut.com/l/_u3sNNo1ZzksR
https://dl.doubtnut.com/l/_n4bKVAcL05Bu


23. Determine the terms of the following A.P.’s as

specified. 

25th term of 3.1, 1.7, ....

Watch Video Solution

24. Determine the terms of the following A.P.’s as

specified. 

nth term of 

Watch Video Solution

(a − 3b), (a − b), (a + b)

https://dl.doubtnut.com/l/_n4bKVAcL05Bu
https://dl.doubtnut.com/l/_pW7QdACHdSDZ
https://dl.doubtnut.com/l/_szhDDu5c7ahd
https://dl.doubtnut.com/l/_y60HEsdDYWtf


25. Determine the terms of the following A.P.’s as

specified. 

(n+1)th term of 

Watch Video Solution

, ,
1

n

n + 1

n

2n + 1

n

26. Determine the terms of the following A.P.’s as

specified. 

17th term of -2,1,4,7,……

Watch Video Solution

https://dl.doubtnut.com/l/_y60HEsdDYWtf
https://dl.doubtnut.com/l/_wtBCFI5c7Z2y


27. Determine the terms of the following A.P.’s as

specified. 

10th term of 408,404,400,……

Watch Video Solution

28. Determine the terms of the following A.P.’s as

specified. 

10th term of 2,0,-2,-4,……

Watch Video Solution

https://dl.doubtnut.com/l/_s45nnkfgORan
https://dl.doubtnut.com/l/_NN0mcjuPEnZw


29. Determine the terms of the following A.P.’s as

specified. 

rth term of 20,18,16,……

Watch Video Solution

30. The first term of an A.P. is 6 and common

difference is 2, then determine the l5th team.

Watch Video Solution

https://dl.doubtnut.com/l/_kj0iF3Mgo2Pw
https://dl.doubtnut.com/l/_nvuQPCxDSQRu


31. The first term of an A.P. is 5 and the 11th term

,is 125 then determine the common difference.

Watch Video Solution

32. The fourth term and eighth term of an A.P. are

2 and 10 respectively. Determine the A.P. and its

11th term.

Watch Video Solution

https://dl.doubtnut.com/l/_CCiisc2mPdrP
https://dl.doubtnut.com/l/_m0vUM7WoYlUs


33. The eighth term and 20th term of an A.P. are

22 and 46 respectively. Determine the first term,

common difference and 17th term of it.

Watch Video Solution

34. the 7th term and 14 term of an A.P are - 9 and

- 23 respectively. Determine the first term and

common difference. which term of the A.P is -25

Watch Video Solution

https://dl.doubtnut.com/l/_dfh4u2ijY8ar
https://dl.doubtnut.com/l/_wtX7pGKIFSkQ


35. The fifth and nineth term of an A.P. are 7 and

11 respectively. Determine the A.P. which term of

the A.P. is 2 ?

Watch Video Solution

36. Which term of the A.P. , is

zero?

Watch Video Solution

−3 , − 3, − 2
1

3

2

3

https://dl.doubtnut.com/l/_Obe5AZb4tJgJ
https://dl.doubtnut.com/l/_Tzww7g6sA29w


37. Can zero be a term of an A.P. whose eleventh

term is 62 and 21th term is 32 ? (Hint : Taking the

nth term to be zero, find n)

Watch Video Solution

38. The 4rth term and 15th term of an A.P is 22

and 66 respectively. Find the first term and the

common difference.

Watch Video Solution

https://dl.doubtnut.com/l/_fXO55HUdwDh0
https://dl.doubtnut.com/l/_04eDZWqFLv01


39. The sixth term and 16th term of an A.P. are —

30 and zero respectively. The sum of a particular

term with 26th term is the 21th term of the A.P.

Determine the term.

Watch Video Solution

40. If 5 times the fifth term of an A.P. .is equal to 8

times its eight term, show that 13th term is zero.

Watch Video Solution

https://dl.doubtnut.com/l/_82FFYFKmJsWq
https://dl.doubtnut.com/l/_j4P30Mfcyovn


41. If the 9th term of an A.P is zero,prove that

29th term is double the 19th term.

Watch Video Solution

42. In a certain A.P., the 24th term is twice the

10th term. Prove that 72th term is twice of 34th

term.

Watch Video Solution

https://dl.doubtnut.com/l/_GrYh7RYakCZE
https://dl.doubtnut.com/l/_4x8CqnQ4LSAy


43. If the mth term and nth term of an A.P. are

respectively n and m show that the (m + n)th

term is zero and pth term is .

Watch Video Solution

m + n − p

44. The pth term of an A.P. is  and qth term is .

Show that the nth term is  .

Watch Video Solution

q p

p + q − n

https://dl.doubtnut.com/l/_pLuSfdlwRWBE
https://dl.doubtnut.com/l/_5juQJ59giDD6


45. The pth term of an A.P. is —q and qth term is -

p. If the nth term is zero, find n.

Watch Video Solution

46. The sum of the first term and pth term of an

A.P. is zero. Show that the th term is

zero.

Watch Video Solution

( )
p + 1

2

https://dl.doubtnut.com/l/_e3VRhGH7yHyY
https://dl.doubtnut.com/l/_jB8J8D6ZO7il


47. The sum of the pth and the qth term of an A.P.

is equal to the sum of rth and sth term of it.

Show that (p-r)th term and (s-q)th terms are

equal

Watch Video Solution

48. If pth, qth and rth term of an A.P. are in A.P.,

show that p, q, r also are in A.P.

Watch Video Solution

https://dl.doubtnut.com/l/_0UfQW7MlrJKa
https://dl.doubtnut.com/l/_X4F4Dy2vrEa0


49. If the qth term of an A.P. is twice the pth term

and rth term is twice the qth term. Prove that

Watch Video Solution

−2p + r = 3q

50. The sum of the pth and qth term of an A.P. is

one, and rth term is one. Show that the pth term

is 

Watch Video Solution

q − r

p + q − 2r

https://dl.doubtnut.com/l/_MjNSzLEoOy87
https://dl.doubtnut.com/l/_EzvwRiDL66z4


51. The pth term of an A.P. is twice the qth term.

Again the sum of qth
 and rth term is 2. Prove

that the pth term is 

Watch Video Solution

4(q − p)

3q − 2p − r

52. The sum of three consecutive terms of an A.P.

is 21 and their product is 315. Determine the

numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_i2xsnnFAtrL3
https://dl.doubtnut.com/l/_oAk9Rbb6VXAk


53. The sum of three consecutive terms of an A.P.

is 36 and their product is 1620. Determine the

numbers.

Watch Video Solution

54. The sum of three consecutive terms of an A.P.

is 54. If the product of the extremes is 275,

determine the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_Kp8cbsZSTlSH
https://dl.doubtnut.com/l/_OsDxzaAjf1jV


55. The sum of three numbers in A.P. is 12. If the

sum of the squares is 56, then determine them.

Watch Video Solution

56. Three integers are in A.P. If the product of the

first and last is 60 and their difference is 4,

determine them.

Watch Video Solution

https://dl.doubtnut.com/l/_Gw2ppET0dcmx
https://dl.doubtnut.com/l/_LKc4Esjzktda


57. Divide 69 into three parts such that the parts

may form as A.P. and the product of first two

terms is 483.

Watch Video Solution

58. Divide 72 into three parts such that the parts

may form,an AP. and the product of the smaller

parts is 480.

Watch Video Solution

https://dl.doubtnut.com/l/_yWBXEcB0BwjO
https://dl.doubtnut.com/l/_qRuDovf65mX0


59. The product of three numbers in A.P. is 648. If

the greatest is twice the least, then determine

the numbers.

Watch Video Solution

60. The sum of the squares of three numbers in

A.P. is 116. If the greatest is twice the least, then

find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_jPuV6Qt78Rsv
https://dl.doubtnut.com/l/_3OHQWfiVf6ZW


61. The sum of three numbers in A.P.is 30. If the

product of the last two is three times the

product of the first two then find the numbers.

Watch Video Solution

62. The sum of four numbers in A.P. is 20 and sum

of their squares is
120. Find the numbers. 

Hint : Assume them as  and 

.

Watch Video Solution

a − 3d, a − d, a + d

a + 3d

https://dl.doubtnut.com/l/_JIqzyfsjyiN4
https://dl.doubtnut.com/l/_XrkDH1zDjgkc
https://dl.doubtnut.com/l/_5FSnpu2F5ykx


63. The sum of four numbers in A.P. is 40. If the

sum of the product of first and last term and two

middle term is 160, find the numbers

Watch Video Solution

64. If a, b, c are in A.P. then show that the terms

given below are
also in A.P. 

Watch Video Solution

b + c, c + a, a + b

https://dl.doubtnut.com/l/_5FSnpu2F5ykx
https://dl.doubtnut.com/l/_JMYRP2CjSrGP


65. If a, b, c are in A.P. then show that the terms

given below are
also in A.P. 

Watch Video Solution

b + c − a, c + a − b, a + b − c

66. If a, b, c are in A.P. then show that the terms

given below are
also in A.P. 

Watch Video Solution

, ,
1

bc

1

ca

1

ab

https://dl.doubtnut.com/l/_PZMpSjKPMvBV
https://dl.doubtnut.com/l/_lN85sHoz8CzS


67. If a, b, c are in A.P. then show that the terms

given below are
also in A.P. 

.

Watch Video Solution

a( + ), b( + ), c( + )
1

b

1

c

1

c

1

a

1

a

1

b

68. If a, b, c are in A.P. then show that the terms

given below are
also in A.P. 

.

Watch Video Solution

(b + c)2 − a2, (c + a)2 − b2, (a + b)2 − c2

https://dl.doubtnut.com/l/_OdXgqA0il09Q
https://dl.doubtnut.com/l/_wUWw0r4ofccX


69. If a, b, c are in A.P. then show that the terms

given below are
also in A.P. 

.

Watch Video Solution

a2(b + c), b2(c + a), c2(a + b), {ab + bc + ca ≠ 0}

70. If  are in A.P., then the terms given

below are also in A.P. 

.

Watch Video Solution

a2, b2, c2

, ,
1

b + c

1

c + a

1

a + b

https://dl.doubtnut.com/l/_ZNKBJT74e1bf
https://dl.doubtnut.com/l/_WRifM8XxvP88
https://dl.doubtnut.com/l/_wsWlJWbI4FiU


71. If  are in A.P., then the terms given

below are also in A.P. 

.

Watch Video Solution

a2, b2, c2

, ,
a

b + c

b

c + a

c

a + b

72. If  are in A.P. then 

 are also in A.P.

Watch Video Solution

, ,
1

a

1

b

1

c

, ,
b + c

a

c + a

b

a + b

c

https://dl.doubtnut.com/l/_wsWlJWbI4FiU
https://dl.doubtnut.com/l/_pXwhRfMZYXow


73. If  are in A.P., then 

are in A.P.

Watch Video Solution

, ,
1

a + b

1

b + c

1

c + a

c2, a2, b2

74. Insert three arithmetic mean between 2 and

14.

Watch Video Solution

75. Insert three A.M.'s between  and .

Watch Video Solution

3
1

4
1

1

4

https://dl.doubtnut.com/l/_po3CF3R5bVy6
https://dl.doubtnut.com/l/_zbHDTGZyHQ21
https://dl.doubtnut.com/l/_MwGHcLa9ecg2


Watch Video Solution

76. Insert seven A.M.’s between 1 and 41.

Watch Video Solution

77. Insert five A.M.'s between 1.2 and 8.4.

Watch Video Solution

78. Determine four numbers between 7 and 4

such that these six numbers are six consecutive

https://dl.doubtnut.com/l/_MwGHcLa9ecg2
https://dl.doubtnut.com/l/_izwqzewWe3pU
https://dl.doubtnut.com/l/_ffCY6q2gqJIB
https://dl.doubtnut.com/l/_QZKVtLFLLAzU


terms of an A.P.

Watch Video Solution

79. Determine three quantities between x and 9x+

4 such that these
five numbers form an AP.

Watch Video Solution

80. Determine p A.M.’s between 1 and .

Watch Video Solution

p2

https://dl.doubtnut.com/l/_QZKVtLFLLAzU
https://dl.doubtnut.com/l/_MTNRTFW1xA4w
https://dl.doubtnut.com/l/_qJla9xoZk40w
https://dl.doubtnut.com/l/_UjEo49joesAD


81. If  is the A.M. of a and b, then

find n.

Watch Video Solution

an + bn

an− 1 + bn− 1

82. If  is the A.M. of a and b, then

find n.

Watch Video Solution

an+ 1 + bn+ 1

an + bn

83. There are n A.M.'s between 5 and 35. If second

mean : last mean = 1 : 4, then find n.

https://dl.doubtnut.com/l/_UjEo49joesAD
https://dl.doubtnut.com/l/_R9OoEWwfr2FA
https://dl.doubtnut.com/l/_auEdpWnBz50C


Watch Video Solution

84. There are n A.M.'s between 1 and 51 and

fourth mean : seventh mean = 3 : 5, Determine n.

Watch Video Solution

85. There are p A.M.'s between 5 and 41 and third

mean : (p-1)th mean
= 2 : 5, find p.

Watch Video Solution

https://dl.doubtnut.com/l/_auEdpWnBz50C
https://dl.doubtnut.com/l/_8WYV0VZbk7WT
https://dl.doubtnut.com/l/_JhuUsSlcUTFJ


86. The product of two numbers is 16. The

product of two A.M.’s between them is 24. Find

the numbers.

Watch Video Solution

87. If …..  are in AP, then prove that 

Watch Video Solution

a1, a2, a3 an

+ + + .... . + =
1

a1a2

1

a2a3

1

a3a4

1

an− 1an

n − 1

a1an

https://dl.doubtnut.com/l/_Rit017c0ZJEh
https://dl.doubtnut.com/l/_d6gXumPd4XzY


88. Find the sum of the following series up to the

specified term 

1 + 3 + 5 + 7….. upto 30th term.

Watch Video Solution

89. Find the sum of the following AP up to the

specified term 

2 + 6 + 10 + …...upto 50th term.

Watch Video Solution

https://dl.doubtnut.com/l/_BUz2Ry700YDy
https://dl.doubtnut.com/l/_RfYjMkKbsLBk


90. Find the sum of the following AP up to the

specified term 

20+ 18+ 16….. Upto 12th term.

Watch Video Solution

91. Find the sum of the following AP is up to the

specified term 

4+7+10….. Upto 112th term.

Watch Video Solution

https://dl.doubtnut.com/l/_RAlvEftIZ3MT
https://dl.doubtnut.com/l/_K71ha9d2RHvc


92. Find the sum of the following AP up to the

specified term 

…... upto 9th term.

Watch Video Solution

+ + +
1

2

1

3

1

6

93. Find the sum of the following series up to the

specified term 

…..upto 21 th

term

Watch Video Solution

√2 + √2(1 − √2) + √2(1 − 2√2)

https://dl.doubtnut.com/l/_6CbD6TiZdMTG
https://dl.doubtnut.com/l/_9ZNOnLjxamWt
https://dl.doubtnut.com/l/_JZrovzJek8xH


94. Find the sum of the following series up to the

specified term 

-8-3+2+…..upto 20th term.

Watch Video Solution

95. Find the sum of the following series up to the

specified term 

…..upto nth term.

Watch Video Solution

+ x + +
x2 − 1

x

x2 + 1

x

https://dl.doubtnut.com/l/_JZrovzJek8xH
https://dl.doubtnut.com/l/_plgmMlPvRpEk


96. Find the sum of the following series up to the

specified term 

….. upto nth

term.

Watch Video Solution

(x − y) + (2x − 3y) + (3x − 5y) +

97. Find the sum of the following series up to the

specified term 

…..upto nth term.

Watch Video Solution

+ + +
n

n

n − 1

n

n − 2

n

https://dl.doubtnut.com/l/_baAPUTFXOu15
https://dl.doubtnut.com/l/_2CG1WZ7Ytw1o
https://dl.doubtnut.com/l/_PLOncWAdE4Hz


98. Find the sum of the following series up to the

specified term 

1 + 4+ 7+…... + 37

Watch Video Solution

99. Find the sum of the following series up to the

specified term 

2+5+8+…....+152

Watch Video Solution

https://dl.doubtnut.com/l/_PLOncWAdE4Hz
https://dl.doubtnut.com/l/_2ZBpc9t75SFq


100. Find the sum of the following series up to

the specified term 

1-3-7-…..-47

Watch Video Solution

101. By inserting eight A.M.’s between 2 and 29

prove that the sum of the eight A.M's is equal to

eight times of A.M. of 2 and 29.

Watch Video Solution

https://dl.doubtnut.com/l/_lfJ2KO0bwqaE
https://dl.doubtnut.com/l/_tUq9Az5iuBHz


102. Show that the sum of 500 A.M.’s between 2

and 3 is 1250.

Watch Video Solution

103. Prove that the ratio of the sum of m A.M.’s

between any two
numbers to the sum of n A.M's

between the same numbers is equal
to .

Watch Video Solution

m

n

https://dl.doubtnut.com/l/_guEzOWDd3VTL
https://dl.doubtnut.com/l/_nfCHAgazkGuM


104. The sum of fIrst n terms of an A.P series is

. Find the fifth term.

Watch Video Solution

26n − 2n2

105. Find the rth term of an A.P., the sum of

whose first n terms is .

Watch Video Solution

2n + 3n2

106. The first term and common difference of an

A.P. are 3 and 2 respectively. Find the sum of first

https://dl.doubtnut.com/l/_GcO0AuZIGEyS
https://dl.doubtnut.com/l/_Shsm1MifRzii
https://dl.doubtnut.com/l/_7iTNlwiz9cNQ


fifteen terms.

Watch Video Solution

107. The fifth and ninth terms of an A.P. are

respectively -15 and -13. Find the sum of first ten

terms.

Watch Video Solution

108. The first term and common difference of an

A.P. are respectively 4 and 2. If the sum up to n

terms is 88, find n.

https://dl.doubtnut.com/l/_7iTNlwiz9cNQ
https://dl.doubtnut.com/l/_6v9A3bOSMOeq
https://dl.doubtnut.com/l/_3pLL8p9YqKLz


Watch Video Solution

109. The first term and common difference of an

A.P. are respectively -2 and -4. If the sum upto n

terms is —288, find n.

Watch Video Solution

110. The first term and last term of an A.P. are

respectively 1 and 157. If the sum is 3160 find the

number of terms.

Watch Video Solution

https://dl.doubtnut.com/l/_3pLL8p9YqKLz
https://dl.doubtnut.com/l/_ZM81JlZflskw
https://dl.doubtnut.com/l/_2MWEx7h55Xas


111. The first term and last term of an A.P. are 5

and 123 respectively. If the sum of the series is

3840, determine the number of terms and

common difference.

Watch Video Solution

112. If the sum upto 21st term of an A.P. is 630,

determine the 11th
term.

Watch Video Solution

https://dl.doubtnut.com/l/_2MWEx7h55Xas
https://dl.doubtnut.com/l/_KaAIgyxOZSLC
https://dl.doubtnut.com/l/_CD7c3zSqMYjx


113. If 18th term of an A.P. is 52, determine the

sum upto 35th term.

Watch Video Solution

114. In an A.P. if the ratio of the sum upto 10th

term and the 10th term is 140 : 23, and the

common difference is 2, then determine the first

term.

Watch Video Solution

https://dl.doubtnut.com/l/_KTNdkNIlFH94
https://dl.doubtnut.com/l/_nnrsAu1oqlt7


115. The seventh term of an A.P. is 20 and the sum

of first twenty terms is 610. Find the tenth term

and the sum of first fifteen terms.

Watch Video Solution

116. The sum of first ten terms of an A.P. is 120.

The sum of next ten
 terms is 320. Find the first

term and common difference.

Watch Video Solution

https://dl.doubtnut.com/l/_hWIEnuxNIhKV
https://dl.doubtnut.com/l/_X0YKpdFM96IR


117. In an A.P. the ratio of 7th term to 11th term is

19 : 31 and the sum of these two terms is 20.Find

the sum of first twenty terms.

Watch Video Solution

118. The sum of first nine terms of an A.P. is 171

and that of 24 terms is
996. Find the sum of first

16 terms.

Watch Video Solution

https://dl.doubtnut.com/l/_cVA6TFfBw7Dm
https://dl.doubtnut.com/l/_d3bP7y3gARHq


119. In an A.P. the nth term is p and the sum of

first n terms is q. Show that the first term of the

series is .

Watch Video Solution

2q − pn

n

120. If  denoted the sum of n terms

of three series in A.P. the first term of each being

the same and the respective common difference

1, 2 and 3, show that .

Watch Video Solution

{S1, S2, S3}

{S1 + S3 = 2S2}

https://dl.doubtnut.com/l/_wRYmtdLaHUIY
https://dl.doubtnut.com/l/_99a3Jz03zJC8
https://dl.doubtnut.com/l/_C9OyaUlaebmz


121. The sum of first n terms of an A.P. is m and

that of first m terms is
 n. Prove that the sum of

first m + n terms is .

Watch Video Solution

−(m + n)

122. The ratio of sum of the first n terms of two

series in A.P is . Prove that

the ratio of their 12th terms is 7 : 16.

Watch Video Solution

(3n + 8) : (7n + 15)

https://dl.doubtnut.com/l/_C9OyaUlaebmz
https://dl.doubtnut.com/l/_L53gqVPcjfB5


123. In an A.P. the pth and qth terms are

respectively a and b. Show
that the sum of first p

+ q terms is .

Watch Video Solution

{(a + b) + }
p + q

2
a − b

p − q

124. If the first terms, second term and the last

term of an A.P. are respectively a,b and c.Prove

that the sum of the series is

.

Watch Video Solution

(a + c)(b + c − 2a)

2(b − a)

https://dl.doubtnut.com/l/_JkjtgosRAmn3
https://dl.doubtnut.com/l/_6Gk1b3DHQpyt


125. The sum of first n terms of an A.P. is .If

 and .Show that 

.

Watch Video Solution

Sn

Sn = n2p Sm = m2p(m ≠ n)

Sp = p3

126. The first term of an A.P. is a. If sum of first p

terms is zero, prove
 that the sum of first (p + q)

terms is .

Watch Video Solution

a(p + q)q

1 − p

https://dl.doubtnut.com/l/_muqk41ip43hy
https://dl.doubtnut.com/l/_3OKwOuc4cgEw


127. The sum of first P terms of an A.P. is equal to

that of the first Q terms. Prove that the sum of

first (P+Q) terms is zero.

Watch Video Solution

128. Find the sum of all odd numbers lying

between 12 and 90.

Watch Video Solution

https://dl.doubtnut.com/l/_SNnTyXlojHgU
https://dl.doubtnut.com/l/_Jraj2K9XFL90


129. Determine the sum of the numbers lying

between 100 and 500 which are divisible by 11.

Watch Video Solution

130. Find the sum of all numbers lying between 1

and 100 which are divisible by 4 or 5.

Watch Video Solution

131. Determine the sum of the numbers lying

between 100 and 200
which are not divisible by 3.

https://dl.doubtnut.com/l/_q60C8Xhk9pXz
https://dl.doubtnut.com/l/_MO1m5VNWoBEt
https://dl.doubtnut.com/l/_G7bd7flNZHcT


Watch Video Solution

132. Determine the sum of following series upto n

terms. 

…….

Watch Video Solution

1.2 + 2.3 + 3.4 +

133. Determine the sum of following series upto n

terms. 

…….

Watch Video Solution

1.1 + 2.3 + 3.5 +

https://dl.doubtnut.com/l/_G7bd7flNZHcT
https://dl.doubtnut.com/l/_V39w6bCmvwrv
https://dl.doubtnut.com/l/_YRgLD51AHIzn


134. Determine the sum of following series upto

n terms. 

…….

Watch Video Solution

2.1 + 3.3 + 4.5 +

135. Determine the sum of following series upto n

terms. 

…….

Watch Video Solution

3.8 + 6.11 + 9.14 +

https://dl.doubtnut.com/l/_YRgLD51AHIzn
https://dl.doubtnut.com/l/_z6yipP7KUYcl
https://dl.doubtnut.com/l/_I2FJjxNWXYkj


136. Determine the sum of following series upto n

terms. 

…….

Watch Video Solution

1.3 + 2.4 + 3.5 +

137. Determine the sum of following series upto n

terms. 

…….

Watch Video Solution

1.3 + 5.7 + 9.11 +

https://dl.doubtnut.com/l/_7qraTfW1RtaW
https://dl.doubtnut.com/l/_fSNkf3K13df1


138. Determine the sum of following series upto n

terms. 

…..

Watch Video Solution

(32 − 22) + (52 − 42) + (72 − 62) +

139. Determine the sum of following series upto n

terms. 

…..

Watch Video Solution

(12 − 22) + (32 − 42) + (52 − 62) +

https://dl.doubtnut.com/l/_HNDdHxd6Rguo
https://dl.doubtnut.com/l/_Tjx3b5oxKSKi


140. Determine the sum of following series upto

n terms. 

…….

Watch Video Solution

1.22 + 2.32 + 3.42 +

141. Determine the sum of following series upto n

terms. 

…….

Watch Video Solution

1 + (1 + 2) + (1 + 2 + 3) +

https://dl.doubtnut.com/l/_VtKRq01QcDFN
https://dl.doubtnut.com/l/_idOZf2v9DRsN


142. Determine the sum of following series upto

n terms. 

…….

Watch Video Solution

1 + (3 + 5) + (7 + 9 + 11) +

143. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

ratio. 

.

Watch Video Solution

3n+ 2

https://dl.doubtnut.com/l/_5R1qcOlVHMdg
https://dl.doubtnut.com/l/_PMYTjeb43emz


144. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

ratio. 

.

Watch Video Solution

3n + 2

145. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

https://dl.doubtnut.com/l/_PMYTjeb43emz
https://dl.doubtnut.com/l/_eWizJ4MRKbI3
https://dl.doubtnut.com/l/_zLHEs2jn1zjp


ratio. 

.

Watch Video Solution

28 −n

146. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

ratio. 

.

Watch Video Solution

2n− 1

https://dl.doubtnut.com/l/_zLHEs2jn1zjp
https://dl.doubtnut.com/l/_omT0RflKwOpd


147. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

ratio. 

.

Watch Video Solution

( − 2)n− 3

148. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

https://dl.doubtnut.com/l/_VgFBcIl1PBZf
https://dl.doubtnut.com/l/_mVXmNeVdy6MZ


ratio. 

.

Watch Video Solution

3
n

2

149. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

ratio. 

.

Watch Video Solution

3.2n− 1

https://dl.doubtnut.com/l/_mVXmNeVdy6MZ
https://dl.doubtnut.com/l/_ebKXn9j9krHI


150. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

ratio. 

.

Watch Video Solution

ak2n− 1

151. The following are the nth terms of certain

sequences. Determine whether they are G.P. or

not. If it is so find the first term and common

https://dl.doubtnut.com/l/_MGUC75r0uuWb
https://dl.doubtnut.com/l/_b3HKpPj7mJ4j


ratio. 

.

Watch Video Solution

n2 + n + 1

152. Find the value of k, if each of the following

three terms are
in G.P. 

.

Watch Video Solution

k − 1, 3k − 3, 8k − 2

153. Find the value of k, if each of the following

three terms are
in G.P. 

https://dl.doubtnut.com/l/_b3HKpPj7mJ4j
https://dl.doubtnut.com/l/_9OAaMSe7apLa
https://dl.doubtnut.com/l/_1krmyleNxSQZ


.

Watch Video Solution

3k + 1, 6k − 4, 3k − 2

154. Find the value of k, if each of the following

three terms are
in G.P. 

.

Watch Video Solution

3k, 3k + 3, 3k + 8

155. Find the value of k, if each of the following

three terms are
in G.P. 

.k + 1, 2k + 2, 5k − 2

https://dl.doubtnut.com/l/_1krmyleNxSQZ
https://dl.doubtnut.com/l/_ipjzOCxkkXbs
https://dl.doubtnut.com/l/_AL8xYuzw45zr


Watch Video Solution

156. Find the value of k, if each of the following

three terms are
in G.P. 

.

Watch Video Solution

3k − 7, 5k − 1, 14k + 2

157. Find the terms of the following G.P. as

specified. 

5th and 8th terms of 1,3,9,27,…

Watch Video Solution

https://dl.doubtnut.com/l/_AL8xYuzw45zr
https://dl.doubtnut.com/l/_KrHs7fNABGjl
https://dl.doubtnut.com/l/_ssjO6dYAL3h8


158. Find the terms of the following G.P. as

specified. 

6th and 10th terms of ,…….

Watch Video Solution

√3, ,
1

√3

1

3√3

159. Find the terms of the following G.P. as

specified. 

4th and 9th terms of ,…..

Watch Video Solution

1, − ,
1
2

1

4

https://dl.doubtnut.com/l/_ssjO6dYAL3h8
https://dl.doubtnut.com/l/_MmqED1UurubQ
https://dl.doubtnut.com/l/_e7IGoR3VrN9Q


160. Find the terms of the following G.P. as

specified. 

Eighth terms of ,……

Watch Video Solution

(√2 + 1), 1, (√2 − 1)

161. Find the terms of the following G.P. as

specified. 

Fifth term of ,…..

Watch Video Solution

p2, pq, q2

https://dl.doubtnut.com/l/_EcMMuRqV2gXR
https://dl.doubtnut.com/l/_Et7Uos0CRuW1


162. Which term of 2, 4, 8, 16,….. is 2048 ?

Watch Video Solution

163. Which term of ,….. is 1?

Watch Video Solution

, ,
1

128

1

64

1

32

164. Which term of 9,3,1,…. Is ?

Watch Video Solution

1

243

https://dl.doubtnut.com/l/_lndX67SK0xGQ
https://dl.doubtnut.com/l/_gWmIjaRvBsCY
https://dl.doubtnut.com/l/_2jHg15xP5F4D
https://dl.doubtnut.com/l/_6wplfucCo469


165. Which term of 4,-8,16,-32,…... is 1024?

Watch Video Solution

166. The fourth and seventh terms of a G.P. are 1

and  respectively. Determine the G.P. Also find

its nineth term.

Watch Video Solution

1

8

167. The second and fifth term of a G.P. are 24 and

81 respectively. Find the first term and common

https://dl.doubtnut.com/l/_6wplfucCo469
https://dl.doubtnut.com/l/_L0ytBix9KSiC
https://dl.doubtnut.com/l/_Yzc4xh5QTysV


ratio.

Watch Video Solution

168. The fourth term of a G.P. is 4 and the product

of second and fourth term is 1. Find its sixth

term.

Watch Video Solution

169. The sum of second and third term of a G.P. is

 and that of sixth and seventh term is 

.Find its first term and common ratio.

−
1

9
−

16

729

https://dl.doubtnut.com/l/_Yzc4xh5QTysV
https://dl.doubtnut.com/l/_6sCl1nw0vfli
https://dl.doubtnut.com/l/_bfSLl3UdadCf


Watch Video Solution

170. The fifth term of a G.P. is four times the third

term. The sum of the first and second term is

-4.Determine the G.P.

Watch Video Solution

171. The sum of the second and third term of a

G.P. is 3 and that of fourth and fifth term is 12.

Determine the first term.

Watch Video Solution

https://dl.doubtnut.com/l/_bfSLl3UdadCf
https://dl.doubtnut.com/l/_xDspHCmw9Px9
https://dl.doubtnut.com/l/_XokYpZamC7bw


172. The third term of a G.P. is square of the first

term. The fifth term is
 64. Determine the first

term and common ratio.

Watch Video Solution

173. The first term and common ratio of a G.P. are

both positive. The product of first and second

term is 9 and that of first and fourth term is 144.

Find the third term.

Watch Video Solution

https://dl.doubtnut.com/l/_XokYpZamC7bw
https://dl.doubtnut.com/l/_fg4eIHtkmL5P
https://dl.doubtnut.com/l/_AeUSATzr8ESm


174. The first, fourth and thirteenth term of an

A.P. are in G.P. If the first term of the A.P. is 3, find

the A.P.

Watch Video Solution

175. In a G.P., the (p + q)th term is m and (p-q)th

term is n. Find its pth term.

Watch Video Solution

https://dl.doubtnut.com/l/_AeUSATzr8ESm
https://dl.doubtnut.com/l/_nDpWm4pgS9ka
https://dl.doubtnut.com/l/_37he1V62NO8W


176. The sum of three numbers in G.P. is 52 and

their product is 1728.Find the numbers.

Watch Video Solution

177. The sum of three positive numbers in G.P. is

21. The sum of second and third term is twenty

times the first term. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_oHnpqB4KbHq6
https://dl.doubtnut.com/l/_q79vMTudmLhp


178. The sum of three numbers in G.P. is 26. If the

product of first and third is six times the second

term, Find the numbers.

Watch Video Solution

179. The sum of three numbers in G.P. is 7. If sum

of their squares is 21, Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_yaO6bODmRZbV
https://dl.doubtnut.com/l/_hyUXXP1KGo3d


180. The sum of three numbers in A.P. is 18. If 2, 4

and 11 are added to them respectively, the results

are in G.P., find them.

Watch Video Solution

181. The sum of three numbers in A.P. is 15. If 1, 4

and 19 are added to them respectively, the results

are in G.P., find them.

Watch Video Solution

https://dl.doubtnut.com/l/_vggRTorj40yh
https://dl.doubtnut.com/l/_CeXf1Nx5q1SA


182. The product of three numbers in G.P. is 512. If

8 be added to the first, and 6 to the second, then

these two sums and the third term form an A.P.,

find the numbers.

Watch Video Solution

183. The sum of three numbers in G.P. is 70. If the

first and last term are multiplied by 4 and the

middle term by 5, then they will be in A.P., find

them.

Watch Video Solution

https://dl.doubtnut.com/l/_Wmj1LWFgQBIv
https://dl.doubtnut.com/l/_iL5i6yvNDDnR


184. Divide 42 in three parts which are in G.P. such

that the square of the middle term is twice the

greatest.

Watch Video Solution

185. If 1, 1, 3 and 9 be added respectively to four

members in A.P. then a G.P. results. Find the

numbers if their sum is 16.

Watch Video Solution

https://dl.doubtnut.com/l/_iL5i6yvNDDnR
https://dl.doubtnut.com/l/_7SAahD95dSlQ
https://dl.doubtnut.com/l/_fW0TwKtfBY1J
https://dl.doubtnut.com/l/_x90pN5mcffuc


186. x and y are two positive integers such that

2,x, y are in A.P. and x, y,
 9 are in G.P. then show

that 

Watch Video Solution

−x = 4, y = 6.

187. The numbers  are in G.P. and

the numbers  are in A.P., then show that

Watch Video Solution

x, 8, y(x ≠ y)

x, y, − 8

x = 16, y = 4

https://dl.doubtnut.com/l/_x90pN5mcffuc
https://dl.doubtnut.com/l/_aH31rV5SW6mN


188. If a, b, c are in A.P. and a,b, d are in G.P., prove

that a, a-b, d-c are in G.P.

Watch Video Solution

189. If a,b,c are in G.P., show that

 are in A.P.

Watch Video Solution

, ,
1

a + b

1

2b

1

b + c

190. If a, b, c are in A.P. and a, b, c + 1 are in G.P.

then prove that .4a = (a − c)2

https://dl.doubtnut.com/l/_zdQWnnUCdXjc
https://dl.doubtnut.com/l/_eCDRarIXKbPs
https://dl.doubtnut.com/l/_NwD6Crj7e2xE


Watch Video Solution

191. If x,y,z are in G.P and p,q,r are in A.P then

prove that .

Watch Video Solution

xq−ryr−pzp−q = 1

192. If a,b,c are in G.P and  then

prove that x,y,z are in A.P.

Watch Video Solution

a = b = c
1
x

1
y

1
z

https://dl.doubtnut.com/l/_NwD6Crj7e2xE
https://dl.doubtnut.com/l/_ukIjNekqVxQ1
https://dl.doubtnut.com/l/_nLUwgJmpkOe2


193. If x, y, z,w in are in G.P., prove that

.

Watch Video Solution

=
xy − wz

y2 − z2

x + z

y

194. The pth, qth and rth term of a G.P. are x, y, z

respectively, then
 prove that-

.

Watch Video Solution

xq−r. yr−p. zp−q = 1

https://dl.doubtnut.com/l/_X74HFSecRbxD
https://dl.doubtnut.com/l/_Sdy1N7juj6zT


195. If pth, qth and rth term of a G.P. are in G.P.

then prove that p, q, r
are in A.P.

Watch Video Solution

196. If pth, qth and rth term of an A.P. are in G.P.,

then show that
 common ratio of the G.P. is

.

Watch Video Solution

q − r

p − q

https://dl.doubtnut.com/l/_AC5XamKbuk8V
https://dl.doubtnut.com/l/_4jiHWTVT0Lc5


197. If a, b, c be the pth, qth and rth term of both

an A.P. and G.P., then show that -

.

Watch Video Solution

ab− c. bc−a. ca− b = 1

198. If a, b, c, d are in G.P., show that each of the

following three term are also in G.P. 

.

Watch Video Solution

a + b, b + c, c + d

https://dl.doubtnut.com/l/_52aHhoHoRhUv
https://dl.doubtnut.com/l/_novIFmVLPtg0


199. If a,b,c,d are in G.P show that each of the

following three term are also in G.P

.

Watch Video Solution

a2 + b2, b2 + c2, c2 + d2

200. If a,b,c,d are in G.P show that each of the

following three term are also in G.P

.

Watch Video Solution

a2 − b2, b2 − c2, c2 − d2

https://dl.doubtnut.com/l/_uvLUdGCP6bLg
https://dl.doubtnut.com/l/_BoxPzFikheOp


201. If a,b,c,d are in G.P show that each of the

following three term are also in G.P

.

Watch Video Solution

(a − b)2, (b − c)2, (c − d)2

202. If a, b, c, d are in G.P., show that each of the

following three term are also in G.P. 

.

Watch Video Solution

a3 + b3, b3 + c3, c3 + d3

https://dl.doubtnut.com/l/_MhDxq9OPLmGx
https://dl.doubtnut.com/l/_806ybJcATdYs


203. If a,b,c,d are in G.P show that each of the

following three term are also in G.P

.

Watch Video Solution

(a − b)2, (b − c)2, (c − d)2

204. If a,b,c,d are in G.P show that each of the

following three term are also in G.P

.

Watch Video Solution

a2 + b2 + c2, ab + bc + cd, b2 + c2 + d2

https://dl.doubtnut.com/l/_SLSNAUPSMig4
https://dl.doubtnut.com/l/_yvRfczCxzFkk


205. Insert three G.M.’s between 1 and 256.

Watch Video Solution

206. Insert five G.M.'s between 8 and .

Watch Video Solution

1

8

207. Insert five G.M.’s between 3 and 192.

Watch Video Solution

https://dl.doubtnut.com/l/_IniXEMfLJezB
https://dl.doubtnut.com/l/_Px7YmnT300A8
https://dl.doubtnut.com/l/_CNRD1dcwc0Vx
https://dl.doubtnut.com/l/_jaNNw7D32enb


208. Insert four G.M.'s between  and 56.

Watch Video Solution

7
4

209. If  , x, y, z, 128 are in G.P., then find x,y,z,

Watch Video Solution

1

2

210. Inserting three G.M.'s between  and 9

verify that their product is equal to cube of G.M.

of  and 9.

Watch Video Solution

1

9

1

9

https://dl.doubtnut.com/l/_jaNNw7D32enb
https://dl.doubtnut.com/l/_tFpikbC7MmNx
https://dl.doubtnut.com/l/_DXZ4a4u7BW0c


211. The A.M. and G.M. of two positive numbers

are 25 and 24 respectively. Find them.

Watch Video Solution

212. The A.M. and G.M. of two positive numbers

are 15 and 9 respectively. Find them.

Watch Video Solution

https://dl.doubtnut.com/l/_DXZ4a4u7BW0c
https://dl.doubtnut.com/l/_aO6fzEjpYwcS
https://dl.doubtnut.com/l/_66lN3WDD1hfq


213. The A.M. of two integral numbers exceeds

their G.M. by 2 and the ratio of the numbers is 1 :

4. Find them.

Watch Video Solution

214. The sum of two positive numbers is 13 and

their G.M. is 6. Find them.

Watch Video Solution

https://dl.doubtnut.com/l/_jJmFAJrXHYQn
https://dl.doubtnut.com/l/_9GovwRldOGcf


215. The difference of two positive numbers is 64

and the difference of their A.M. and G.M. is 16.

Find the numbers.

Watch Video Solution

216. The sum of A.M. and G.M. of two positive

numbers is 32 and the ratio of these two

numbers is 1:9. Find them.

Watch Video Solution

https://dl.doubtnut.com/l/_ZENhrmWfMBNb
https://dl.doubtnut.com/l/_vUHGnedCPjSv


217. The sum of A.M. and G.M. of two positive

numbers is 96 and the ratio of the two numbers

is 1:9. Find them.

Watch Video Solution

218. The A.M. of two positive numbers is 26. If the

sum of the two numbers exceeds the sum of

their A.M. and G.M. by 2, find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_b02EFntpXAD2
https://dl.doubtnut.com/l/_AMTIjrenOfO5


219. The ratio of A.M. and G.M. of two positive

numbers is 5:4. If the difference between them is

12, find the numbers

Watch Video Solution

220. The difference between the arithmetic mean

and geometric mean of two positive numbers is

16. If the ratio of the numbers is 1:25 find the

numbers

Watch Video Solution

https://dl.doubtnut.com/l/_ZoqJec2GbULU
https://dl.doubtnut.com/l/_kBRC45ph51F1
https://dl.doubtnut.com/l/_LQ7f4oydHYnv


221. If G.M. of a and b is ,then prove

that .

Watch Video Solution

an+ 1 + bn+ 1

an + bn

n = −
1

2

222. If G.M. of a and b is  then

prove that .

Watch Video Solution

an + bn

an− 1 + bn− 1

n =
1

2

223. If 'g' be the GM and p and q be the two A.M.'s

between two given numbers, then show that

https://dl.doubtnut.com/l/_LQ7f4oydHYnv
https://dl.doubtnut.com/l/_KpI7wBynQaq1
https://dl.doubtnut.com/l/_qdqlASIzD3tk


.

Watch Video Solution

g2 = (2p— q)(2q − p)

224. If A be the A.M. of two given numbers and 

and  be two G.M.'s between them,then show

that- .

Watch Video Solution

g1

g2

2A = +
g2

1

g2

g2
2

g1

225. a, b, c are in A.P. If x be the G.M. of a and b,

and y be the G.M. of b
and c, then prove that  isb2

https://dl.doubtnut.com/l/_qdqlASIzD3tk
https://dl.doubtnut.com/l/_GHQ1zj72ZqFS
https://dl.doubtnut.com/l/_5YRq7qjd8t9t


the A.M. of  and .

Watch Video Solution

x2 y2

226. Prove that the product of n G.M.’s between a

and b is 

Watch Video Solution

(ab)
n

2

227. The A.M. of two positive numbers a and b is

twice their G.M. Prove that -

.

W t h Vid S l ti

a : b = 2 + √3: 2 − √3

https://dl.doubtnut.com/l/_5YRq7qjd8t9t
https://dl.doubtnut.com/l/_SIaWDLkwqSQ4
https://dl.doubtnut.com/l/_Naizt3Wj3U0j


Watch Video Solution

228. If A and G be the A.M. and G.M. of two

numbers a and b and ,then prove

that- 

Watch Video Solution

A :G = m : n

a : b = m + √m2 − n2 :m − √m2 − n2

229. Find the sum of the following series 

1 + 2 + 4….. to tenth term.

Watch Video Solution

https://dl.doubtnut.com/l/_Naizt3Wj3U0j
https://dl.doubtnut.com/l/_1BvRi5sus02z
https://dl.doubtnut.com/l/_devZzu3dIXOl
https://dl.doubtnut.com/l/_s6ipRYpnw2xa


230. Find the sum of the following series 

1 + 3 + 9….... to tenth term

Watch Video Solution

231. Find the sum of the following series 

128 + 64 + 32... to tenth term.

Watch Video Solution

232. Find the sum of the following series:

 to the 9th term.1 − 3 + 9 − 27 + ….

https://dl.doubtnut.com/l/_s6ipRYpnw2xa
https://dl.doubtnut.com/l/_2PODIcmCNWKV
https://dl.doubtnut.com/l/_sm5ATkJUSieY


Watch Video Solution

233. Find the sum of the following series:

 to the 10th term.

Watch Video Solution

− 1 + √2…
1

√2

234. Find the sum of the following series 

….to tenth term.

Watch Video Solution

1 + +
1

3

1

32

https://dl.doubtnut.com/l/_sm5ATkJUSieY
https://dl.doubtnut.com/l/_pXT89VfpwH6L
https://dl.doubtnut.com/l/_gynv5IAoNUmF


235. Find the sum of the following series:

to the nth term.

Watch Video Solution

2 + 1 + + ….
1

2

1

22

236. Find the sum of the following series 

…. to n th term.

Watch Video Solution

+ 1 + +
x + y

x − y

x − y

x + y

237. Find the sum of the following series 

….. To n th(a − x) + (a2 − x2) + (a3 − x3) +

https://dl.doubtnut.com/l/_CiIe44PwXqgr
https://dl.doubtnut.com/l/_SUbFxKukCrF0
https://dl.doubtnut.com/l/_I1Ej7AuTEJ96


term.

Watch Video Solution

238. Find the number of terms if- 

….=32767

Watch Video Solution

1 + 2 + 4 +

239. Find the number of terms if- 

….= .

Watch Video Solution

64 + 32 + 16 + 127( )
1

2

https://dl.doubtnut.com/l/_I1Ej7AuTEJ96
https://dl.doubtnut.com/l/_olIWDlGDF2HM
https://dl.doubtnut.com/l/_hFKE5y1dKRaX


240. Find the number of terms if- 

….=-1023.

Watch Video Solution

3 − 6 + 12 − 24 +

241. Find the sum of first n terms of the following

Watch Video Solution

1 + 11 + 111 + 1111 + ….

https://dl.doubtnut.com/l/_hFKE5y1dKRaX
https://dl.doubtnut.com/l/_YqpoOvyR35kP
https://dl.doubtnut.com/l/_9UxvVKAmd6Qn


242. Find the sum of first n terms of the following

Watch Video Solution

5 + 55 + 555 + ….

243. Find the sum of first n terms of the following

Watch Video Solution

3 + 33 + 333 + …. .

244. Find the sum of first n terms of the following

.7 + .77 + .777 + …. .

https://dl.doubtnut.com/l/_JRkjp3AAkbPi
https://dl.doubtnut.com/l/_stZ97yThCPkt
https://dl.doubtnut.com/l/_Y9aoJyh9oRrD


Watch Video Solution

245. Find the sum of first n term of the following

series 

….

Watch Video Solution

4 + 0.4 + 0.44 +

246. Find the sum of first n term of the following

series 

…..

Watch Video Solution

1 + (1 + 2) + (1 + 2 + 22) +

https://dl.doubtnut.com/l/_Y9aoJyh9oRrD
https://dl.doubtnut.com/l/_zZCnLmPVPSFz
https://dl.doubtnut.com/l/_vV55Z6j1e8KL


247. Find the sum of first n term of the following

series 

….

Watch Video Solution

1 + (1 + 3) + (1 + 3 + 32) +

248. If  and  be the sums of first n term

,of 2 n terms and of 3n terms of a G.P.

respectively,then prove that- 

.

Watch Video Solution

S1, S2 S3

S2
1 + S2

2 = S1(S2 + S3)

https://dl.doubtnut.com/l/_vV55Z6j1e8KL
https://dl.doubtnut.com/l/_fR3N7i62pRAr
https://dl.doubtnut.com/l/_Ln9CEpBGVHp2


249. If  and  be the sums of first n term

,of 2 n terms and of 3n terms of a G.P.

respectively,then prove that- 

.

Watch Video Solution

S1, S2 S3

S1(S3 − S2) = (S2 − S1)2

https://dl.doubtnut.com/l/_Ln9CEpBGVHp2
https://dl.doubtnut.com/l/_xDDyY5Jsqai7

